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For all questions, answer E. “NOTA”, means none
of these answers is correct.

Diagrams are not necessarily drawn to scale.

1. In the diagram, AB contains pomt Oand’ o
mLBOC = 20°, msDOC is 6 degrees more than
mZAOD , find m£DOC.

A 77 B. 83 c.85

D. 88 E.NOTA
S\V/é
: >
<A O B

2. In triangle ABC, D is a point on AC and E is aV
point on BC such that DE | AB. If
AD=4,DC=6,BC =15, find BE .

A5 B.6 . C. .7l
2

D.9  E NOTA

3. Given point P above plane T How many hnes
may be passed through point P parallel to
plane T?

o C.2 !:_;-»_:.M,

A0 - B o
ENOTA

D. inﬁnite“ .

4.In aPOR, PT and SR até alfitudés.
PR=13,PS =5,m/Q =45,
Find the length of PT. .

A 6J_
12

17\/—
Y S Y
2

17 SN
NOTA P S Q

MY 0 W

5. If the hour hand of an accurate watch is % of the
way from 3 to 4, what is the time?

A 3:17 B. 3:20 C.3:24
D.3:32 - E.NOTA

6. In the diagram with mZPAB = 40, find
mZAPB if 1. m£BPC =175
_ | II. m£PBC =60
The problem above can be solved using

only I P
only I

Toril .

Bothiand I, .

but neitheralone = A  T{
E. E.NOTA '

oawr

7. In the diagram, with regard to aSOR with ,
measures as given, which of the following is true? -

Q

@E is ldﬂg’ér'than 10
RS isshorter than OS
. OR is the longest side -

D. RS is more than 10 S . R
E.NOTA C ' : _

ram>

8. In the diagrani, the numbers in the squares
represent the areas of each square. If PO =42,
find the length of PT .

A 4
"B. 5 o
C. 9 : 169
D. 25 : 121

E. NOTA - 81 16|
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9.In the dlagram with measures of angles 1nchcated
AB I DE,AD = AE, and ZACB is aright angle
Express y in terms of x. .

‘B

E.NOTA D E

10. In the d1agrarn with congruent sides and
measures as given, determine the value of the
angle labeled x. All other variables are 1engths
of sides

D. 40
E. NOTA

11. In the diagram, the triangles with .si.d.e' leﬂgths as
given are all similar to each other. What is the
value of side labeled x? : :

oo bW

12.In aABC, BD bisects ZABC intersecting
AC at point D. The perimeter of aABC = 60. If
AD =12,DC =16, find the length of 4B.

A. 13% B. 15 C.18

D. 18% E.NOTA

B. 110 %\1 R AR
C. 70 / .
"V

13. The set of all pomts ina plane equ1d1stant frorn '
points A and B, which are also in the plane, is
. best described by which of the following? =

perpendicular bisector of 4B
bisector of £ZAOB

line segment from A'to B
line through A and B

NOTA .

P‘JSU.OFI’?’-

14. Point P divides AB into two segments so that

AP:PB = 3:5. Find the length of AP if AB =40,

A.15

p 0

3

C. 25

p, 20
3

E. NOTA

~ 15. In trapezoid ABCD with AB the upper base and

- diagonals intersecting at E, AE = 30,BE =24,
and CE = 40. Find the length of DE . -

A 32 . B.46- - C.54
D. 50 E.NOTA

16. How many sides does a regular polygon have if
the difference between the sum of the interior
angles and the sum of the exterior angles, one at

each vertex, is 60 times the number of sides of
_the polygon?
A 5 - C.7T

B.6
D. 8 E.NOTA

' 17.Tnright a4BC with right angle at C, BC is 7

~ inches longer than AC ,and 4B is 1inch -

longer than BC . Find the area of a4BC in
square inches. - -

A 15 'B. 30 C.34
D. 40 E.NOTA
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18. In the diagram with measures as given, which 22. Five lines are drawn in a plane. No two
statement(s) must be true? - are parallel, and no three meet in a single point.
I. aABD =aCBD Into how many regions do they divide the
II. AB is the longest plane?
side of aABD A
[I. DC > AD < A. 10 B. 12 C.16
D. 32 E. NOTA
A. LI, and I D ~75 B .
B. B. Il only 45 23.In o HIO with OH = IO, if OH is three times
C. Tand I only as long as HI , and the petimeter of 4 HIO is
g-g g,“r‘;m only 60 42, find the length of O .
’ C A6 B.12 C.18 ~
D. 42 E.NOTA
19. In the diagram, two triangles have a common o
side. Find the measure of the angle labeled y. 24. sABC ~a DEF, AC=3x+2,DF =9x+6, and
the perimeter of aDEF =23. Find the perimeter
A. 15 f aABC '
B. 30 o adBt
C. 45 : '
D. 60 ! A 32 B. 72 c. 11+
E. NOTA i 3 3 2
D. 69 E.NOTA
20. If each interior angle of a regular polygon is 25. In the diagram, given circle B with 4B'= AC,
177°, how many diagonals does the polygon AD a diameter, Points A and C are on the
have? circle. Find mZCBD .
A. 6990 B. 7020 C. 7050 A. 30
D. 7080 E.NOTA B. 60
C. 90 A
D. 120 _
21. Using the diagram as marked and 0D =2, E. NOTA
find the exact perimeter of quadrilateral QUAD.
A 485 A 26. In a right triangle, the legs are 9 and 40. Find
: - D 45 the length of the median to the hypotenuse.
B.8+2++/6 60
90
C.a+6+3v2 QP A7  B.&fI0  C.20)
D.24 U 2
E.NOTA 1
D. 245 E. NOTA
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27.Tn aABC | miA=5x+12,m/B=4%~4 and
m£C = 3x+40. Find the measure of an exterior -

angle of /4. :
A 11 B.67  C.113
D. 180 - E.NOTA
28. In the diagram,'with angle measures as given, f

is a transversal for lines / and m. Find the value
- of y that will make /| m. . | o
, : .
x+11 0/

A. 15
B. 32 ‘ R
C. 37 . I0x-25 |
D. notenough - . -
information
E. NOTA a
< | 4y-3:/ —_—
29. Quadrilateral ABCD is a parallelogram,
miA=x—-40, mZB=x+40, m£D=y. -
- Find the measure of £C. : -
A. 50 " B.90 C. 130
D. 140 E.NOTA
30. An equilateral triangle has an altitude with =~

length 4. Find the perimeter of the triangle.

CB.83

E.NOTA

A 12

N C.24
D. 243

R o /oy |






